MAL-Arx))

Total No. of Questions : 5] SEAT No. :

P3815

Time : 2% Hours]
Instructions to the candi
1) All questions are compuisory.

2) Figure to fi éhtfi}édicate Sfull marks.
3)  Use of sir iple calculator is allowed.
4)  All quéstions carry equal marks.

by five- fb o= 2=10]

Q1) Solve o
a) The mnn point of financi gement in a firm N
] Sthe number and tyﬁpmduqts or ser\a\‘s provided by the firm.
11)4\ the mininiza the amoun éftaxegwpald by the firm.

i) the creati 1‘1\{: ue for sl}égghold@x:@f
its 1328

v) the pr. ed by the.fitm
b) The term, Capital structuré
1) long tefm debt, preferr
)y, cUmrent assets anﬁ%rre;zt iabilities.
otal assets nai%ﬁ%s’ha]i\ﬂit‘ies,

share holder’s eq

C 1s representg;ﬁb\}y the total current assets.
1)  Gross W'orki11gt¢izt:apital
1)  Networking capital
) Fixed working capital
iv) variable working capital
d) What is Business Finance?
e)  Enlist financial statement of listed compa\ﬁ“y/
f)  What s the formula for calculating inferest g;(j);%ff;rage ratio?

g)  Define the term cost of capital.

h)  What do you mean by leverage?
PTO.



02) Answer any two.

P wa) Explain in brief modern approagﬁf§§ of financial managemento

'y b) i;Explain in detail the trend analysis.

AL $m

“-@3).a)” xyzLtd. has ng;degi*‘the followmg}nformatlon.
> Book Value
(Rs.)

‘Types of gaiog;"*gélf

aetit 124 .. : N , , _
#400) | Critically examine the variotis steps involved in capital budgagprocess.
ie ) Ty

.

Specific Cost |
(After Tax)

10,00,000
10,00,000

Equity.capital *

Prefg nce share

capital |

15%

7%

4%

qgg 190,000 &
0

1,75,000

12% |

. 33,65,000

B,
o,

b)
te:

fumber of operati;;\gjcf\/cles in given period.

articulars o

Amount (R

aw materials consumption per annum

H)
%8 ,42 ,Q ,7 -

Average cost of production

Annual cost of sales

14,2500

30,000

Annual sales

Average value of current Assets held:

7Raw Materials

1,24,000

Work-in-progress

72,000

1,22,000

Finished goods
Debiors

2,60,000

P
e S

The company gets 30 days credits from i

uppliers. All sales made by

the firm are on credit only. You can tagé“bne year equal to 360 days.
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04) a)

05) 2)
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Foﬂowmg are the details of AVD corporation Ltd.

Llabﬂmes Amoum . Assets
(Rs.). S
Equity share capital 7, 00 @QO Fixed Assets
Reserve & Surplus 4 @%@00 Martetable 1,00,000 |
N Investm@nt g, ® |
Creditors @%‘,00 000 cms‘.ﬁi i(); 2,00,000
Dgh ? 3,00,000
Y0y 14,00,000 ~14,00,000
0" , : Rs. 6,00,00 Q
Opemmg stock; . Rs. nl Q0 %
S‘éﬁegv e, . Rs.45,08,
C%%mem on the financial p&&ition of the company yon the basis of
i)  Working capital T Ratio.
i) ~~Current ratio
it~ Liquid ragjo Q
iv) Debtor: % atio
V) Credito% ty 110]

0;, rating, ﬁnég
d Winancial pl .

Ay | Amount (Rs.) -
y#E1 Assets o 6,00,000
1Total Assets Tumover ?ased on sales 3 i
Variable cost as peréentage of sales 70%
Particulars Financial PlanA | Financial PlenB
Equity 7,00,000

10% Debenture | 2,00,000

|

|

4 *‘Th@ mvestment budget of
y has ibﬂcwmg alternatives.
[10]

ABC Ltd. is planning to invest in new proj
the company is Rs. 40,00,000. The co

Particulars Project A Ef@’iect B
Initial mvestg;xent 25,00,000 ~95,00,000
Usefullite . ;j ' Syears ,© byears
Cost of: Qapltal 10% 10%




b)
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A pmform& c,osf sheet of fxyz
Pamcuf‘az‘s

viii) Half of sales are on cash basis,

g ." 2.00,000 | ~10,00,000 |

Year | rogectA _j‘ wj;}g{plqcic ;B\j % O

2 7,00,000 £ 650,000

Wility Index.

Work In progress fér 'average half a month,
Credit alloweiipv supphers 1S one month.
v)  Credit allowed'to Customers one month.

vi) Lag in payment of wages is half a month.
vi)) Lag in payment of overheads is a month.

x) cash balance expected is Rs. 1,50,000¢
X)  Finished goods remain in stock for

[l select on the basis of pay




